MARIN	Staces.	CC MANA19	no 5894 A	P63/1	IGE:
INS. CASE OWNE	lmb	100000	IGNMENT 7 4 14	Date / Time :	alylia
Pre-assign / CCU Insured Vehicle Name of Insured Insured Tel No. Excess Sec II :St Is driver the own	murlmma	76+1X  D 3714111111 B IN  HIP  D.O.A. 1444  Nature of Accident 1	Policy No.  Make / Model  Place of Acces	TANOT	12/101291 129201
If NO. Driver No Driver Te		(V/L: YES / NO			IA REPORT: YES / NO inal? Yes / No
SLW 681 8					
INSIRS: WSP: Tel: Liability: WMKS.	note (	NSRS. VSP: el: iability: MKS:	INSRS: WSP: Tel: Lubility: RMRS:		INSRS: WSP: Tel: Liability: RMKS:
Date/ Time			PIZ - U	STAGE	DATE / PIC
PRELIMINARY ADVICE	1-5-19 N		BOLA 27.	Non-Reporting Itr (1st) Non-Reporting Itr (2nd) Anthrical Itr (2nd) Documentation Check Nonfication Itr (2nd) Authorisation Itr (2nd) Referse Voucher Final Report Bill Car Rental Invoice LTA / GIA Medical Bill PIR Maplinte/Reject Instru LOD Payment Breakdown Post-Repair Photos	List: Handler Typist  ickip)  A graduate to the second to
FINALIZATION	Date/Time	Confirm with		Others: Confirm by:	
Repair Cost	58	(days) Reduction:	%		nail Call
FINAL SETTLEMENT Final Linbility: Repair Cost: G.S.T. Loss of Remai (LOR): Loss of Use (LOU): Lins of Income (LOI): LUR only LOU onl GIAT.TA Search	Dute/Time: 25 - 67	Confirm with SVI  [ext / Assessed) BOLA S/N No.    days)   days)   days)	KYI	Email Cal H NO or B 28: Ass. L	
Medical Disburyement Legal Cost	55 - 55 -	(e.g. Towe linde	pendent)	Claim status: Nom     Report Format:     Survey fee:	mil/Reject/Private Settle
Total:	SS 6,157.4	Global Sum SS: 6, (	500.XX	(3) aurvey lev	
FINAL PAYMENT	Date/Time:	Confirm with:		Email Call	
Payee 1: Payee 2: (Strike if N.A.) Payee 3: (Strike if N.A.)	ss 6,000.00	Name 1: CHEV Name 2: Y	N MOTOR	PTE LTD	

Years



# CHEW MOTOR PTE. LTD.

1 Kaki Bukit Avenue 6, Bik C #01-41 Autobay@Kaki Bukit Singapore 417883

Tel: 6509 5545

Fax: 6509 5567

Website: www.chewmotor.com

Registration No.: 201718369R

02/04/2019

Blk 1 Kaki Bukit Ave 6 # 01-43 Singapore 417883

TPAXA.

Joy.

Accident date: 01/04/2019

Estimated repair cost for vehicle no: SLW981E HONDA ACCORD 2.4 A '09

CHASSIS: MRHCP26308P020483

S/n	Qty	Items	U/price	Amount
1	1	Rear Boot Lid Dewled .		\$878.40
2	2	Rear Boot Lid Hinge Not Mer	\$52.40	\$104.80 🗸
3	1	Rear Boot Lid Emblem Logo 7		\$29.10
4	1	Rear Boot Lid Accord Logo		\$35.00
5	1	Rear Boot Lid 2.4 Logo		\$33.20
6	1	Rear Boot Lid I-Vtec Logo		\$33.50
7	1	Rear Boot Lid Number Plate		\$50.00 +
8	1	Rear Boot Lid Number Plate Garnish De formed		\$432.80
9	2	Rear Boot Lid Side Reflector	\$292.40	\$584.80 ×
10	1	Rear Boot Lid Inner Lock		\$210.90
11	1	Rear Boot Lid Inner Rubber 🖽		\$185.00
12	1	Rear Boot Lid Inner Trim Board 3 M		\$264.80 *
13	8	Rear Boot Lid Inner Trim Board Clip	\$6.50	\$52.00 ₺,
14	2	Rear Tail Lamp (rul d	\$336.70	\$673.40
15	4	Rear Tail Lamp Clip Wev	\$8.00	\$32.00 /0
16	2	Rear Tail Lamp Lower Bracket	\$53.60	\$107.20
17	2	Rear Tail Lamp Panel	\$189.20	\$378.40 ×
18	1	Rear Bumper Stouted -		\$709.10
19	8	Rear Bumper Clip Keu	\$6.50	\$52.00
20	2	Rear Bumper Side Retainer	\$47.50	\$95.00
21	1	Rear Bumper Reinforcement But		\$295.60
22	2	Rear Bumper Mud Shield 2 NH	\$93.80	\$187.60 K
23	8	Rear Bumper Mud Shield Clip	\$6.50	\$52.00 *
24	4	Rear Bumper Reverse Sensor Dand 2 pieces	\$226.90	\$907.60 45
25	4	Rear Bumper Reverse Sensor Holder Bracket Mu	\$48.10	\$192.40
26	4	Rear Bumper Reverse Sensor Rubber Seal	\$12.50	\$50.00
27	1	Rear End Panel Deuted		\$317.40
28	1	Rear End Panel Top Garnish		\$197.70

2	Rear Fender Reprint		\$1,294.50	X
2	Rear Fender Inner Trim Board 2 NH	\$163.50	\$327.00	×
16	Rear Fender Inner Trim Board Clip & NEL	\$6.50	\$104.00	×
1	Rear Spare Tyre Panel Panel		\$837.50	×
1			\$233.40	1
2	5. 17	\$145.00	\$290.00	H
1		u	\$450.00	J
1	Rear Exhaust 2x4		\$1,241.30	×
2	Rear Exhaust Mounting & pre-	\$25.70	\$51.40	X
	1 2 1	2 Rear Fender Inner Trim Board 2 NF  16 Rear Fender Inner Trim Board Clip 3 NF  1 Rear Spare Tyre Panel 7 Panel 8 Pane	2 Rear Fender Inner Trim Board 2 Nf \$163.50  16 Rear Fender Inner Trim Board Clip \$6.50  1 Rear Spare Tyre Panel Panel Top Cover toru  2 Rear Spare Tyre Panel Top Side Sponge \$145.00  1 Rear Spare Tyre Panel & End Panel Sealant Nf	2       Rear Fender Inner Trim Board       2       H       \$163.50       \$327.00         16       Rear Fender Inner Trim Board Clip       \$6.50       \$104.00         1       Rear Spare Tyre Panel       \$837.50         1       Rear Spare Tyre Panel Top Cover       \$233.40         2       Rear Spare Tyre Panel Top Side Sponge       \$145.00       \$290.00         1       Rear Spare Tyre Panel & End Panel Sealant       \$450.00         1       Rear Exhaust       \$1,241.30

5243.30

Subtotal :- \$11,970.80

# Labour charges

To remove & refit	reverse sensor		\$100.00 50
To remove & refit of	cushion & trim board		\$280.00 60
To remove & refit r	ear & center exhaust		\$380.00 ×
To check wiring			\$100,00 30
Tuff kote		2100	\$150.00 60
Towing fee	LKK Auto Consultants hence notify the Repairer of the following:  To resurvey before latter spray painting		\$150.00 ×
Panel beating	To display damaged part(s) during resurvey Parts prices are subject to confirmation Third party survey is on a "Without Passage" basis.		\$1,600.00000
Spray painting	No illegal modification(a) is allowed.     Supplementary item(s) must be resurveyed and is subject to final approval from insurance Company.		\$1,400.00100
	Acknowledged by Repairer Signature: Date:	Subtotal :-	\$4,160.00
		1500 B	

Total: \$16,130.80 total 6284-64 4/S: SIC (Nett Value) 06 Days.

500+ dealers competed to buy my car!



- Sell ur Car for More Cash
- · Highest Price or Get \$100 Free
- . Get Paid Now, Handover Later

SELL YOUR CAR



SEARCH Accord

Price Range

▼ Depreciation ▼ 2010

Vehicle Type

Search View All

### Used Car Comparison

--- Comparing 3 Vehicles ---

Honda Accord 2.4A

Honda Accord 2.4A

Handa Accord 2.0A





\$31,034

\$31,034

Lizerry

Available

PARF Car, Consignment Car

\$22,190 /yr





Add to Shortlist



Use search train above to se to company.

- 1	m.	Clea	t A	11.	
	***				
_	_	_	-	_	ì

Add all to Shoutles

Add all to Shortlist Back to search result	Add to Shortlist	Add to shortlist	And to Shortist	
CAR DETAILS	I DESCRIPTION OF THE PERSON NAMED IN		Availed by Line	
Price	127,800	\$24,800	\$25,800	
Instalment	\$3,292	\$1,972	\$1,851	(9)
Registration Date	23-Oct-2009	12-Jan-2016	10-Feb-2010	
Manufactured	2006	2009	2009	1944
Mileage	122,804 km	141,441 km	140,000 km	
Transmission	Auto	Auto	Auto	(*)
Engine Cap	2,354 cc	2,354 cc	1,997 cc	
Road Tax	\$1,628 /yr	\$1,628 /yr	\$1,210 /yr	57.5
Power	125.0 kW (167 bhp)	151.0 kW (202 bhp)	115.0 kW (154 bhp)	
Curb Weight	1,450 kg	1,500 kg	1,505 kg	191
Features	2.4L DOHC I-VTEC Engine, 5 Speed Auto Transmission, Paddle Shift, Cruise Control, Multi Function Steering, SRS Airbags, Rain Sensors, ABS.	Original Condition.	5 Speed Automatic, ABS, Digital Climate Aircon Controls, Auto Headlights And Rain Sensors, Cruise Control, Superior 2.0L I-VTEC Engine.	
Accessories	Original Leather Seats, Retractable Side Mirrors, Sports Rims, Driver And Passenger Electric Seats, Auto Headlights.	Factory Fitted Interior,	Factory Fitted CD/Audio System With Steering Controls, Rear Aircon, Fog Lights, Electric Leather Seats, Sports Rims, Reverse Sensors.	(P)
Description	Smooth, Stable And Responsive Drive. Ideal For Short Term Use Or Renew COE. Well Maintained Condition. Flexible Loan Scheme Available, No Gimmicks. Consignment Unit. Call Now To Arrange Viewing!	(Low Deprecation At \$735/Monthl) 1St Owner JOM Unit. Best For Short Term Usage, 9 Months To Be Driven. Drive And Get Back \$17,193 PARF Value And \$1000 Body Value At End Of COE, Total Return \$18,193. Value For Money, Cheaper Then Rental. (Viewing Available	Lowest Price Luxury Accord In The Mit! Low Mileage! Up To 90% Loan Available! Hurry Before Its Too Late! No Repair Needed! Potential For COE Renewal! In- house, Bank Loans And Trade In Welcome. Come Buy With Assurance And Confident With A Company Serving	

Motoring Needs Since 1999, Come View

Daily By Appointment.) To Appreciate This Gem, Before Its Gone. \$19,801 \$21,301 COE

\$23,180

\$30,624 \$34,386 \$30,624 \$34,386

\$12,270 /yr \$9,810 /уг

1 Linury

PARF Car, Premium Ad Car Available

PARF Cir. Available

Luxury

SELLER INFORMATION

OMV

Depreciation

No. of Owners

Type of Vehicle

Category

Availability



51 UBLAVE 1, 802-25 PAYA URI INDUSTRIAL PARK, SINGAPORE 4089X3 TEL : (065) 62563561 FAX : (065) 62564315

# **Immediate Advice**

To: AXA Insurance Pte Ltd

Date: 10/06/2019

## Survey Details:

Date of loss	01.04.19
Date of appointment	03.04.19
Date of survey	03.04.19
Location of survey	CHEW MOTOR PTE LTD

### Vehicle Details:

Claim Type:	Third party
Vehicle number	SLW 981E
Make and Model	HONDA ACCORD
Date of registration	23.09.2009
Excess	
Market Value	\$21,000
Parf Rebate	\$16,800
Nett Loss	\$4,200

\$14,800 \$14,800 \$5,200 NV.

### Repair details:

Initial Estimate	\$ 16,130.80

# Proposed/Revised repair cost:

Parts	\$ 4,194.64
Check items (estimate)	
Labour	\$ 2,100.00
Total	\$ 6,294.64
Lump Sum(if applicable)	\$ 5,000.00

Number of days for repair	6
---------------------------	---



51 UBLAVE 1, #02-25 PAYA UBLINDUSTRIAL PARK, SINGAPORE 408933 TEL: (065) 62563561 FAX: (065) 62564315

## Remarks:

We have n	ot authorize	ed repairs	. HEAD TO	REAR	

# Mandate:

Liability(TP)	100%	
Proposed repair cost	\$ 5,350.00	
Loss of use	\$ 800.00	\$100 x 8 days
LTA search fee	\$ 7.45	
Proposed Total	\$ 6,157.45	

Claim Portal Man waxo Service Request Details 59M01IWZ None 2 1 April 2019 2 Apr 2019 4:15:32 PM Frequent Date 2 April 2019 3 April 2020 LKK AUTO CONSULTANTS PTE LTD (TP) Transact Agent Third Party Vehicle Damage Pending verification - Direct Settlement Actions New Step Finish the work Vehicle Information I THE WAY WANTED REGISTRATION &

THC

------



# Re:RE: Re:TP REJECTED OUR GS \$5,300 OFFER

Type

**Q**uestion

Message

Please proceed

Reply

New Cars

**Used Cars** 

Sell My Car

Directory

Products

Insurance

Articles

Resources

500+ dealers competed to buy my car!



. Sell ur Car for More Cash

. Highest Price or Get \$100 Free . Get Paid Now, Handover Later SELL YOUR CAR



SEARCH Accord

\* Depreciation \* 2010

Vehicle Type

Search View All

Used Car Comparison

— Comparing 3 Venicles —

Honda Accord 2.4A

Honda Accord 2.4A

Hunda Accord 2.6A





TO Clear All

Add all to Shortlist

Back to search result

Add to Shortlist

CAR DETAILS 125 800 \$24,800 \$27,800 Price \$1,851 \$1,972 63.292 10-Feb-2010 12-Jan-2010 23-Oct-2009 Registration Data 3009 2009 Manufactured 2006 140,000 km 141,441 km 122,804 km Mileage BURD. Auto Transmission Auto 1,997 cs 2,354 cc 2,354 00 Engine Cap \$1,210 Ar Road Tax \$1,628 /yr 115.0 kW (154 bhp) 151,0 kW (202 bhp) 125.0 kW (167 bhp) 1,500 kg 1,505 kg Curb Weight 1,450 kg 2.4L DOHC I-VTEC Engine, 5 Speed Auto Transmission, Puddle Shift, Cruise Control, Multi Function Steering, SRS Airbogs, Rain Sensors, ABS. 5 Speed Automatic, ABS, Digital Climate Aircon Controls, Auto Headilgriss And Rain Sensors, Cruise Control, Superior 2.01.1-VTEC Engine. Original Condition. Features

Original Leather Soats, Retractable Side Hirrors, Sports Rima, Driver And Passanger Electric Soats, Auto Headlights.

Factory Fitted Interior.

Factory Fitted CD/Audio System With Steering Controls, Rear Aircon, Fog Lights, Electric Leather Seats, Sports ms. Reverse Sensors.

Description

Smooth, Stable And Responsive Drive. Ideal For Short Term Use Or Renew COE. Well Maintained Condition. Flexible Loan Scheme Available, No Gimmicks. Consignment Unit, Call New To Arrange (Lew Deprecation At \$735/Month!) 1St Owner 3DM Unit. Best For Short Term Usage, 9 Months To Be Driven, Drive And Get Back \$17,193 PARE Value And \$1000 Body Value At End Of COE, Total Return \$18,193, Value For Money, Cheaper Then Rental, (Viewing Available Daily By Appointment.)

Lowest Price Luxury Accord In The Hkt! Low Mileage! Up To 90% Loan Available Hurry Before Its Too Late! No Repair Needed! Potential For COE Renewal! In-house, Bank Loans And Trade In Welcome, Come Buy With Assurance And Confident With A Company Serving Hutoring Needs Since 1999, Come View To Appreciate This Gem, Before Its

COE

Depreciation

No. of Owners

Type of Vahicle

Availability

\$19,801 OHY \$31,034

\$31,034

\$22,190 /yr 3

Available

PARF Car, Consignment Car

\$34,386 \$9,810 /yr

1

Available

\$21,301

\$34,386

PARF Car, Premium Ad Car

Linuxy

\$23,180

130,624

\$30,624

\$12,270 /yr

PARF Car Available

SELLER INFORMATION

### > Back to OneMotoring

### Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars

Owner ID Type:

Company

Owner ID:

4540N

Vehicle Details Vehicle No.:

SLW981E

Vehicle to be Exported:

No

Intended Deregistration Date:

02 Apr 2019

Vehicle Make: Vehicle Model: HONDA ACCORD 2.4L

Primary Colour:

Grev

Manufacturing Year:

2008

Engine No.:

K24Z21957501

Chassis No.:

MRHCP26308P020483

Maximum Power Output:

133.0 kW (178 bhp)

Open Market Value:

\$31,866.00

Original Registration Date:

23 Sep 2009

First Registration Date:

23 Sep 2009

Transfer Count:

Actual ARF Paid:

\$31,866.00

Intended PARF Rebate Details

PARF Eligibility:

PARF Eligibility Expiry Date:

22 Sep 2019

PARF Rebate Amount:

\$15,933.00

Intended COE Rebate Details

COE Expiry Date:

22 Sep 2019

COE Category:

B - Car (1601cc & above)

COE Period(Years):

10

QP Paid:

\$19,289.00

COE Rebate Amount:

\$910.00

Total Rebate Amount:

\$16,843.00

The information contained herein is correct as at 02 Apr 2019

OK



51 URLAVE 1, 802-25 PAYA URI INDUSTRIAL PARK, SINGAPORE 400933 TEL : (065) 62563561 FAX : (065) 62564315

# **Immediate Advice**

To: AXA Insurance Pte Ltd

Date: 10/06/2019

### Survey Details:

Date of loss	01.04.19
Date of appointment	03.04.19
Date of survey	03.04.19
Location of survey	CHEW MOTOR PTE LTD

# Vehicle Details:

Claim Type:	Third party
Vehicle number	SLW 981E
Make and Model	HONDA ACCORD
Date of registration	23.09.2009
Excess	ld an
Market Value	-521,000 \$ 22,000
Parf Rebate	\$16,800 \$ 14,800
Nett Loss	\$4,200 \$ 5,200 NV

### Repair details:

Initial Estimate	5	16,130.80

## Proposed/Revised repair cost:

Parts	S	4,194.64
Check items (estimate)		
Labour	\$	2,100.00
Total	\$	6,294.64
Lump Sum(if applicable)	\$	5,000.00

Number of days for repair	6



51 UBI AVE 1, 492-25 PAYA UBI INDUSTRIAL PARK, SINGAPORE 408923 TEL: (065) 62563561 FAX: (065) 62564315

# Remarks:

We have not au	thorized repo	irs. HEAD TO F	REAR	

# Mandate:

Liability(TP)	THE PROPERTY OF THE PERSON	100%	
Proposed repair cost	\$	5,350.00	
Loss of use	Ś	800.00	\$100 x 8 days
LTA search fee	\$	7.45	
Proposed Total	\$	6,157.45	

Jay

Our Reference

CM1904-0055 / SLW981E

Your Reference

CB7671X

23 April 2019

**AXA Insurance Singapore Pte Ltd** 

8 Shenton Way,

#B1-01,

Singapore 068811



CHEW MOTOR PTE. LTD

WITHOUT PREJUDICE

Dear Sir/Madam

# ACCIDENT INVOLVING SLW981E & CB7671X ON 01.04.2019 ALONG UPPER SERANGOON BESIDE ST PAUL CHURCH TOWARDS HOUGANG AT 18:00HRS

We are instructed by EZ-SWIFT CAR RENTAL & LEASING PTE LTD to claim damages and losses against you in connection with the above-captioned road traffic accident which our client's vehicle SLW981E damaged by vehicle CB7671X driven by your insured at the material time.

We are informed that the said accident was caused by your insured's negligence. As a result of the accident, our client's vehicle was damaged and our client has been put to loss and expenses, particulars of which are as follows: -

P	Repair Costs (7% GST)	\$ 5,350.00
>	Loss of Use for 07 days (Rental Vehicle) (+1 Weekend)	\$ 840.00
>	LTA Search Fees	\$ 7.45
>	Total	\$ 6,197,45

A copy of each supporting documents are enclosed for your perusal.

- GIA Report
- Invoice
- LTA Search Receipt

Please let us have your cheque for the sum of \$6,197.45 made payable to us, CHEW MOTOR PTE. LTD. within the next 14 days.

Yours Sincerely,

8

### Assignment

To:	Chew Motor Pte Ltd	(Workshop)

In consideration for your agreement to repair my motor vehicle registration no. 

Ow98/E

and to defer demanding for payment of the cost of repair, I/we the undersigned do hereby irrevocably assign absolutely to you all the proceeds of my/our claim(s) including damages, interest, costs and expenses (including legal costs / disbursements payable on a party and party basis which are to be paid to the parties so entitled including solicitors, vehicle appraisers and other experts / consultants).

I/We further confirm that payment to you only or to any person authorised by you to receive payment shall constitute a good and effectual discharge of the obligations by any party of the aforesaid proceeds of my/our claim(s).

I/We authorise you expressly to give notice of this assignment to the party concerned.

I/We confirm that by this assignment, I/we shall not be entitled in law to receive any payment. If a cheque is sent to me/us, I/we shall return same to the sender as I/we am/are precluded from accepting any payment.

Signature

Name

ID No.

Address

Witness Signature

Witness Name

Witness ID

Witness Address



51 UBI AVE 1, #01-25 PAYA UBI INDUSTRIAL PARK, SINGAPORE 408933 TEL : (065) 62563561 FAX : (065) 62564315

08 APRIL 2019

MUHAMMAD ZULHILMI BIN MUSA BLK 12 EUNOS CRESCENT #03-2781 Singapore 400012

Dear Sir/Madam,

OUR REF

: CC4/ASM19005894/Aib3

YOUR REF

: CB 7671X

ACCIDENT INVOLVING CB 7671X AND SLW 981E ALONG UPPER SERANGOON RD ON 01.04.2019

We refer to the above subject matter. We write to inform you that we are the loss adjuster appointed by your motor insurer, AXA Insurance Singapore Pte Ltd to deal with the third party claim against your policy.

We have received a claim from M/s CHEW MOTOR PTE LTD, acting on behalf of the owner of SLW 981E against your motor insurance policy.

Based on the accident report and accident scenario, it was reported that your vehicle had hit Third Party vehicle from the rear. As such, liability is down against us.

Please be informed that your No Claim Discount (NCD) may be affected as a result of the claim against your policy.

There is an excess of \$2,000.00 on Third Party claims under your policy. Please make a cheque payment of \$2,000.00 payable to "AXA Insurance Singapore Pte Ltd" with your vehicle registration number and the date of accident indicated on the back of your cheque and mail to AXA Insurance Singapore Pte Ltd.

We shall proceed to deal with the claim(s) subject to the merits of the case and according to the rights afforded under the policy. Should you not be seeking the protection of your policy and seek to take conduct of third party claim(s) arising from this incident, at your own cost and defence, please reply to us within 10 days from the date of this letter. Your intent must be formally expressed to us and acknowledged by us.



51 UBI AVE 1, #01-25 PAYA UBI INDUSTRIAL PARK, SINGAPORE 408933 TEL: (065) 62563561 FAX: (065) 62564315

Your full co-operation in the handling of the claim is required and kindly submit the following to <a href="mailto:joyirene@lkkauto.com">joyirene@lkkauto.com</a> within 10 days from the date of this letter if not provided at our reporting centre. The list below is not all inclusive and further document may be required:

- Police report, Police Investigation result, appeal against the Traffic Police offence and status (if any)
- · Driver's driving license or foreign driving license (if any)
- Coloured photographs of accident scene (if any)
- Coloured photographs of damage to all vehicles involved (If any)
- Video footage of accident (if any)
- Statement and/or police report from independent witness(es) (if any)
- If you or your passenger(s) are filing a claim against any of the involved Third Party(s), you are to keep us informed of your legal representative(s) and the status of the claim

To protect your interest(s) in the handling of this claim, please do not discuss liability with any of the Third Party(s) and/or their legal representatives, or make any compromise or settlement without AXA's prior knowledge and consent.

This letter should **not** be regarded as a waiver by AXA of their rights to repudiate any claim because of any breach of policy terms and conditions you and/or your authorised driver may have committed.

In the event of receiving and handling of any third party injury claim(s), AXA shall keep you informed of the final indemnity upon conclusion of the matter(s).

If you need any clarification, please do not hesitate to contact us at 6256 3561 or email us at joyirene@lkkauto.com.

Please quote the claim reference when you contact us that we can assist you more effectively.

Yours sincerely

Noy Irente Case Handler DID: 6841 2409

FAX: 6741 4108

Email: joyirene@lkkauto.com

# LETTER OF AUTHORISATION

Chew Motor Pte Ltd

Name:

Date:

NRIC No.:

Kaki Bukit Avenue 6 Blk 1 #01-11 Singapore 417883 Dear Sir. Accident on CB7671X Involving Vehicles Along SIWG81E I/We, the registered owner/driver of vehicle registration no: have involved in the above accident. I/We hereby authorize Chew Motor Pte Ltd to commence repairs of the said vehicle forthwith. I/We agree to assign the whole proceeds of my/our comprehensive/third party claim to you and our , to act on my/our behalf in respect of the above matter. And if applicable, my/our solicitors shall accept this as my/our irrevocable authority to pay the amount as deemed compensated direct to you after deduction of their costs on a Solicitor and client basis. I/We undertake to co-operate fully with you and our solicitors to ensure that claim is successful. I/We also authorize you to sign all discharge vouchers/indemnity forms and all necessary papers in relation with the above claim in my/our absence. Your kind co-operation in this matter will be much appreciated. Yours trulk Owner's Signature (Company stamp if applicable)



and the second state of the second Auto No. Service Suprember for Personal Security best Park Living Succession

#### AXA THIRD PARTY DIRECT SETTLEMENT

Vehicle No	CB 7671X	[Insd veh]			
	SLW 981E	(TP.veh)	Model:	HONDA ACCORD	
Date of Accident/ Time:	01/04/2019				

	me : CHEW MOTOR PT		GLOBAL SUM)		
			GLUBAL SUM)	_	
Final Settl	lement Sum		GLOBAL SUM)		
CFEFFE.		5			
Others	Search Fee	5			
Rental (if a	1444	5		days at 5	per da
Loss of Us	Table 1	3		days at S	per da
Final Repa	imate er Cost	15 17,059	1.10		

#### NOTE:

- 1. PLEASE EXPRESSLY RESERVE YOUR CUENT'S RIGHTS IF SO REQUIRED IN THIS SETTLEMENT DOCUMENT.
- 2. THIS SETTLEMENT IS ON A WITHOUT PREJUDICE BASIS AND SHOULD NOT CONSTRUED AS AN ADMISSION OF LIABILITY ON AXA AND THEIR CLIENT/TORTFEASOR IN ANY MANNER WHATSOEVER.
- 3. AXA RESERVES THEIR RIGHTS UNDER THE POLICY TERMS & CONDITIONS AS WELL AS THEIR RIGHTS IN LAW.

Only applicable to rental claim - All document are to be submitted with this settlement confirmation. In the event, rental agreement / invoices are not received within 7 days of this signed confirmation, we will automatically revert to loss of use claims per the NIMA rates.

We/I confirmed that this is a full and final settlement that we and or our client have/had/has against you (AXA and their policyholder/authorised driver/tortfeasor) for any and all losses (past/present/future) arising from this accident.

yra have the authority of our client to act for and o

Signature of workshop representative / Workshop stamp
Name of Representative Sukin Ching

Date 75.6-19

Signature of

Witness / Workshop stamp (if applicable)

Name of Witness: Chiel Chew Date:

Signature of AKA's surveyors représentative Name of AXA's surveyor /Representative

Date:



# CHEW MOTOR PTE. LTD.

1 Kaki Bukit Avenue 6, Blk A #01-11 Autobay@Kaki Bukit Singapore 417883

Tel: 6509 5545

Fax: 6509 5567

Website: www.chewmotor.com

Registration No.: 201718369R GST Reg No.: 201718369R

# TAX INVOICE

AXA Insurance Pte Ltd

Invoice No : CPI1904-0055

8 Shenton Way,

Date : 23-Apr-19

#B1-01,

Date of Accident : 1-Apr-19

Singapore 068811

Vehicle No. : SLW981E

Client:

EZ-SWIFT CAR RENTAL & LEASING PTE LTD

Model Type : Honda Accord

Descriptions		_	Amount
Lump Sum Repair Cost			5,000.00
	GST 7%	:	350.00
	Total	:	5,350.00

(SGD) Dollars:

FIVE THOUSAND THREE HUNDRED AND FIFTY ONLY



### > Back to OneMotoring



Land Transport Authority 10 Sin Ming Drive Singapore 575701

GST Registration No.: M4-0006529-2

Print Date/Time:

02 Apr 2019 / 15:08:43

Receipt Date/Time: 02 Apr 2019 / 15:08:43

### Tax Invoice/Receipt

Receipt No.: ITNET-00000-190402-001921

Previous Receipt No.:

S/N	Item Description/ Business Transaction Reference No.		Amount Before GST (S\$)	GST Amount (S\$)	Amount After GST (S\$)
As at	It of Insurance Enquiry - CB7671X 01 Apr 2019/18:00:00 ance Co: AXA INSURANCE PTE LTD Insurance Enquiry - CB7671X Enquiry Fee		7.00	0.49	7.49
	20190402150807606389		7100	0.70	2.1.40
		Sub-Total	7.00	0.49	7.49
		<b>Total Before Rounding</b>	7.00	0.49	7.49
		Rounding Difference			0.04
		Total Amount Payable			7.45
		Paid By			
		xxxxxxxxxxxxx4469	Credit Card: Visa/MasterCard		7.45
		Total			7.45
		Cash Change			0.00
		Tendered Amount			7.45
		Excess Refundable Amount			0.00

#### THANK YOU AND HAVE A NICE DAY!

Please ensure that all payments to the Authority are good and promptly settled by the payment service provider / financial institution. Otherwise, the transaction and receipt is considered void and late fee may apply.



# LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Affiliated to Federation Internal	tionale Des Experts En Autom	obile			
XA INSURANCE PTE LTD Ref : CC4/ASM19005894/Ajb3q2						
8 SHENTON WAY #24 AXA TOWERSINGAP ATTN:STACEY NG		Date: 05-07-2019 Code: ASM				
	Policy Particular	's :- THIRD PARTY CLAIR	M			
Insured Veh.	CB 7671X	Veh. Inspected	SLW 981E			
Policy No.	GA427201	Coverage (\$)	0.00			
Claim No.	S9M01IWZ	Excess (\$)	0.00			
Assign From		Assign Date	03/04/2019			
2.	Vehicle Par	ticulars & Condition				
Make & Model	HONDA ACCORD	c.c	2354			
Engine No.	HIDDEN	Year of Reg.	2009			
Chassis No.	MRHCP26308P020483	Colour	GREY			
Odometer	155437	Steering	IN ORDER			
Brakes	IN ORDER	Modification	SPORTS RIM			
General	GOOD					
S. C.	Cond	itions of Tyres				
	Size	Make	Balance			
R/H Front Tyre	225/50 R17	GOODYEAR	6 mm			
L/H Front Tyre	225/50 R17	GOODYEAR	6 mm			
R/H Rear Tyre	225/50 R17	GOODYEAR	6 mm			
L/H Rear Tyre	225/50 R17	GOODYEAR	6 mm			
		tion of Damages				
THE VEHICLE SU	STAINED DAMAGES AT THE R	REAR PORTION.				
DAMAGES SEE D	ETAILS.	2				
	Gener	ral Information				
Accident Date	01/04/2019	Inspection Date	03/04/2019			
Survey held at	CHEW MOTOR PTE LTD		8			
	BLK 1 KAKI BUKIT AVE 6 #01-41 AUTOBAY @ KAKI BU SINGAPORE 417883	IKIT				
ia.		Remarks				
A)THE INSPECTION B)IN ACCORDANGE	ON WAS CONDUCTED ON A"W CE TO YOUR INSTRUCTIONS,	ITHOUT PREJUDICE" BASI WE HAVE NOT AUTHORISE	S. ED REPAIRS.			
5b.		e Days of Repair				
ESTIMATED NOR	MAL PERIOD FOR REPAIR:	6 Working Days				



## LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

#### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLW 981E

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)	
	REPLACEMENT OF PARTS				
1	REAR BOOT LID (CONSISTENT)	DENTED	878.40	878.40	
2	REAR BOOT LID HINGE @\$52.40 (CONSISTENT)	NOT NECESSARY	104.80	5	
1	REAR BOOT LID EMBLEM LOGO (CONSISTENT)	NECESSARY	29.10	29.10	
1	REAR BOOT LID ACCORD LOGO (CONSISTENT)	NECESSARY	35.00	35.0	
1	REAR BOOT LID 2.4 LOGO (CONSISTENT)	NECESSARY	33.20	33.2	
1	REAR BOOT LID I-VTEC LOGO (CONSISTENT)	NECESSARY	33.50	33.5	
1	REAR BOOT LID NUMBER PLATE (CONSISTENT)	NOT NECESSARY	50.00		
1	REAR BOOT LID NUMBER PLATE GARNISH (CONSISTENT)	DEFORMED	432.80	432.8	
2	REAR BOOT LID SIDE REFLECTOR @\$292.40 (CONSISTENT)	NOT NECESSARY	584.80	ì	
1	REAR BOOT LID INNER LOCK (CONSISTENT)	DAMAGED	210.90	210.9	
1	REAR BOOT LID INNER RUBBER (CONSISTENT)	CUT	185.00	185.0	
1	REAR BOOT LID INNER TRIM BOARD (CONSISTENT)	NOT NECESSARY	264.80		
8	REAR BOOT LID INNER TRIM BOARD CLIP @\$6.50 (CONSISTENT)	NOT NECESSARY	52.00	1	
2	REAR TAIL LAMP @\$336.70 (CONSISTENT)	CRACKED	673.40	673.4	
4	REAR TAIL LAMP CLIP @\$8.00 (CONSISTENT)	NECESSARY	32.00	10.0	
2	REAR TAIL LAMP LOWER BRACKET @\$53.60 (CONSISTENT)	BENT	107.20	50.0	
2	REAR TAIL LAMP PANEL @\$189.20 (CONSISTENT)	TO REPAIR SEE LABOUR	378.40	3	
1	REAR BUMPER (CONSISTENT)	DISTORTED	709.10	709.10	
8	REAR BUMPER CLIP @\$6.50 (CONSISTENT)	@\$6.50 (CONSISTENT) NECESSARY			
2	REAR BUMPER SIDE RETAINER @\$47.50 (CONSISTENT	) NECESSARY	95.00	95.0	
1	REAR BUMPER REINFORCEMENT (CONSISTENT)	BENT	295.60	295.6	
2	REAR BUMPER MUD SHIELD @\$93.80 (CONSISTENT)	NOT NECESSARY	187.60		
8	REAR BUMPER MUD SHIELD CLIP @\$6.50 (CONSISTENT)	NOT NECESSARY	52.00	à	
4	REAR BUMPER REVERSE SENSOR @\$226.90 (CONSISTENT)	DAMAGED (2 PCS ONLY)	907.60	453.8	
4	REAR BUMPER REVERSE SENSOR HOLDER BRACKET @\$48.10 (CONSISTENT)	NOT NECESSARY	192.40	ş	

Report Ref No. CC4/ASM19005894/Ajb3q2



# LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

Qty	Description of Parts	Description of Parts Condition			
4	REAR BUMPER REVERSE SENSOR RUBBER SEAL @\$12.50 (CONSISTENT)	NECESSARY	50.00	50.0	
-1	REAR END PANEL (CONSISTENT)	DENTED	317.40	317.40	
1	REAR END PANEL TOP GARNISH (CONSISTENT)	DEFORMED	197.70	197.70	
2	REAR FENDER (CONSISTENT)	TO REPAIR SEE LABOUR	1,294.50		
2	REAR FENDER INNER TRIM BOARD @\$163.50 (CONSISTENT)	NOT NECESSARY	327.00	3	
	REAR FENDER INNER TRIM BOARD CLIP @\$6.50 (CONSISTENT)	NOT NECESSARY	104.00		
.1	REAR SPARE TYRE PANEL (CONSISTENT)	TO REPAIR SEE LABOUR	837.50		
-1	REAR SPARE TYRE PANEL TOP COVER (CONSISTENT)	TORN	233.40	233.40	
2	REAR SPARE TYRE PANEL TOP SIDE SPONGE @\$145.00 (CONSISTENT)	DEFORMED	290.00	290.00	
- 1	REAR SPARE TYRE PANEL & END PANEL SEALANT (CONSISTENT)	NOT NECESSARY	450.00		
1	REAR EXHAUST (CONSISTENT)	NOT NECESSARY	1,241.30		
2	REAR EXHAUST MOUNTING @\$25.70 (CONSISTENT)	NOT NECESSARY	51.40	9	
1	LESS 20% DISCOUNT		11,970.80	-1,048.66 4,194.64	
	LABOUR		11,970.00	4,194.04	
			400.00		
	TO REMOVE & REFIT REVERSE SENSOR .		100.00	50.00	
	TO REMOVE & REFIT CUSHION & TRIM BOARD.  TO REMOVE & REFIT REAR & CENTER EXHAUST.	NOT NECESSARY	280.00 380.00	60.00	
	TO CHECK WIRING .	NOT NECESSART	100.00	30.00	
	TUFF KOTE.		150.00	60.00	
	TOWING FEE.	NOT NECESSARY	150.00	00.00	
	PANEL BEATING INCLUSIVE OF THE REPAIR OF REAR TAIL LAMP PANEL, REAR FENDER AND REAR SPARE TYRE PANEL	THE CLOUM!	1,600.00	900.00	
	SPRAY PAINTING.		1,400.00	1,000.00	
			4,160.00	2,100.00	
	GRAND TOTAL		16,130.80	6,294.64	

Report Ref No. CC4/ASM19005894/Ajb3q2



Page No.:3 of 3

RECOMMENDED COST OF LUMP SUM REPAIRS	5,000.00
(TO ITS PRE-ACCIDENT CONDITION)	

Report Ref No. CC4/ASM19005894/Ajb3q2



ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part, Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.

----

Merimen

Reports & Statement

Accident Statement

DATE	LEX. AUTO CONSULTANTS PTE 10 July 2019 LTO (19)	LIC (TP)	LICK AUTO CONSULTANTS PTE 10 July 3019 LTD (TP)	UNK AUTO CONSULTANTS PTE 10 July 2019 LTD (TP)	LHK AUTO CONSULTANTS PTE 10 July 3019 LTD (TP)	UK AUTO CONSULTANTS PTE 10 July 2019 LTD (TP)	UKK AUTO COMBULTANTS PTE 10 July 2019 LTD (TP)	LIK AUTO CONSULTANTS PTE 18 Ann 2019 LTD (TP)	UNIX AUTO CONSULTANTS PTE 11 June 2019	LAK AUTO COMSULTANTS PTE 10 June 2019 LTD (TP)	LAK AUTO COMSULTANTS PTE 10 June 2019 LTD (TP)	LEIK AUTO CONSULTANTS PTE 10 June 2019 LED (TP)	LIK AUTO CONSULTANTS PTE 10 Aire 2019 LTD (TP)	
SUB-TYPE ALTHOR	Surveyori Assessor LSC AUT expense UD (TP)	Chherr LTD (TP)	Others LDC AUT	Others LTD (FP)	Satrifaction / Discharge LVK AUT Voucher LTD (TP)	POA / Authority Letter LTD (TP)	Repairer LXK ALIT	Others LTD (TP)	Others LTD (TP)	Others LTD (TR)	Others LTD (TP)	Others LEUKAUT	Others LTD (TR)	
DE MAN	freder Su	Forms / Claim Discurrents	Form / Claim Decuments	Forms / Claim Decuments	Forms / Claim Sar Documents Vo	Forms / Claim Documents	Brecakon Res	Reports & Statement Cts	Reports & Statement	Reports & Statement DE	Reports & Statement Ot	Reports & Statement Of	Reports & Statement Ot	
NAME	LiOttocolera (2) polf	Lta SEARCH pdf	LiOGinspection (3) politi	LUCAchartmenta (2) pdf	PAYMENT BREAKDOWN, DOPRESS SETTLEMENT FORM DEL	AUTHORISATION TO ACT FORMadd	WORKSHOP INVOICE pirit	AMENDED JApel	CORRESPONDENCE WITH TPalett	LETTER TO INSURED-put	NOD-CHEW pdf	MANDATE IA « CHEWMOTOR-SLW 991E pill	TP ESTIMATE, MARKED - pidt	

Service (1.1. Service)

10 June 2019

LIK AUTO CONSULTANTS PTE LTD (TP)

Others

Reports & Statement

SUIVEY PHOTOS pill

2 April 2019

MIKAM Santosh Plandurang

Others

Commondence

FIMAL FROM WORKSHOP FOR TP REG. 711

DATE

AUTHOR

344.446

344

PANA

.

3
- 70
- 13
ŧ
1
4.4
20
8
7
- 8
- 4
1
- 2
- 3
Ē
å
9
3
Ť
Š
ž.
1
š
8
ğ
3
-
-
Ē
2
4
š
Ē
8
g
Ē
ğ
3
£
6
3
ŝ
ž
量
÷
들
£
- 8
É
di.
alchi.
ũ,
ē
- 4
1X3
590
rtnia
E.
献
5
-8
DS.
http